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Special Triangle Segments and Points of Concurrency
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AF, BD, and CE are medians.
If these segments intersect at
point G, then G is the
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HM, JN, and LK are altitudes.
If these segments intersect at
point P, then P is the
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TV, UV, and WV are
perpendicular bisectors that

intersect at point V, so V is the
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XA, YA, and ZA are angle
bisectors that intersect at
point A, so Ais the
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AF, BD, and CE are medians | HM, JN, and LK are altitudes | TV, UV, and WV are XA, YA, and ZA are angle
that intersect at point G. that intersect at point P. perpendicular bisectors. bisectors that intersect at A.
IfAG =8, fHL=12and LP =5, fQvV =18, If AC =27,
thenGF=___andAF=__ |thenHP=___ thenRV=__andSV=__ |thenAR=__ andAH=___
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AF, BD, and CE are medians | HM, JN, and LK are altitudes | TV, UV, and WV are XA, YA, and ZA are angle
that intersect at point G. that intersect at point P. perpendicular bisectors. bisectors that intersect at A.
IfBF =6, If m:MPK =67°, IfVU=9and VR =15, IfAC=9andAX =17,
thenFC=__andBC=__ |[thenm/PKM=___ thenRU=__ then CX =
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AF, BD, and CE are medians
that intersect at point G.
fEG=2x-1and GC =3x + 1

HM, JN, and LK are altitudes
that intersect at point P.
fJM=x-8,JP=x-7,and

TV, UV, and WV are
perpendicular bisectors.

fFQT=5x-19and TR=2x + 8

XA, YA, and ZA are angle
bisectors that intersect at A.
fm«CXA=x-9and

thenx=__ _andEC=___ PM=x-9,thenx=___ thenx=__andQR=___ m«CXR =x + 10, thenx=___
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AF, BD, and CE are medians
that intersect at point G.
IfAE=9-2xand EB=8x- 16
thenx=___andAB=___

HM, JN, and LK are altitudes
that intersect at point P.
If m.LPH =2x + 2 and
m«PHL=x-5,thenx=___

TV, UV, and WV are
perpendicular bisectors.
If m:WVQ =10x + 1 and

m<.VQW =4x -9, thenx=__

XA, YA, and ZA are angle
bisectors that intersect at A.
If XR =63, AZ = 34, and
RZ =30,then XA=___




